Maytag MFR35PCATS 02 - CONTROL PANEL (PC/PN)

Maytag Residential Maytag MFR35PCATS Washer Parts Parts Diagram 02 - CONTROL PANEL (PC/PN
Click on the part number to view part

001 23001339 23002455 Nut, Rapid

" NLA Not Available PANEL, CONTROL

" NLA Not Available BOLT (M6X16)
002  NLA Not Available gfg’\' CO S
003 23001526 Plexi, Microprocessor
004 23001525 Microprocessor

" 23003741 Controller, Apl283a V1.07
005 23002331 Contactor, Central Stop
006 23001063 Meter, Coin
007 23001537 12001897 Kit- Key S
008 23001538 12001896 Kit- Key S
009 23001540 Adapter, Contact Block
010 23001541 Block, Contact
011 23002873 Block, Contact
012 23001542 Holder, Board

013 23002332 Knob, Central Stop


http://www.pwslaundry.com/c-504144-residential-maytag-mfr35pcats-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10404221-maytag-23002455-washer-nut-rapid.html
http://www.pwslaundry.com/i-10404528-maytag-23001526-washer-plexi-microprocessor.html
http://www.pwslaundry.com/i-10404529-maytag-23001525-washer-microprocessor.html
http://www.pwslaundry.com/i-10406371-maytag-23003741-washer-controller-apl283a-v1-07.html
http://www.pwslaundry.com/i-10404664-maytag-23002331-washer-contactor-central-stop.html
http://www.pwslaundry.com/i-10406345-maytag-23001063-washer-meter-coin.html
http://www.pwslaundry.com/i-10407327-maytag-12001897-washer-kit-key-s.html
http://www.pwslaundry.com/i-10407326-maytag-12001896-washer-kit-key-s.html
http://www.pwslaundry.com/i-10404530-maytag-23001540-washer-adapter-contact-block.html
http://www.pwslaundry.com/i-10404531-maytag-23001541-washer-block-contact.html
http://www.pwslaundry.com/i-10404666-maytag-23002873-washer-block-contact.html
http://www.pwslaundry.com/i-10401526-maytag-23001542-washer-holder-board.html
http://www.pwslaundry.com/i-10404665-maytag-23002332-washer-knob-central-stop.html

014 23002330 Not Available LABEL, CENTRAL STOP

016 23001544 Bolt

017 23001055 23001014 Nut M4

Lock Washer External Teeth

019 23001013 M

021 23002174 23003654 Washer M3.2

023 NLA Not Available LABEL, EARTH


http://www.pwslaundry.com/i-10406347-maytag-23001064-washer-screw-ornamental.html
http://www.pwslaundry.com/i-10404532-maytag-23001544-washer-bolt.html
http://www.pwslaundry.com/i-10401426-maytag-23003654-washer-washer-m3-2.html
http://www.pwslaundry.com/i-10404471-maytag-23001014-washer-nut-m4.html
http://www.pwslaundry.com/i-10404091-maytag-23001053-washer-nut.html
http://www.pwslaundry.com/i-10404092-maytag-23001013-washer-lock-washer-external-teeth-m4.html
http://www.pwslaundry.com/i-10404092-maytag-23001013-washer-lock-washer-external-teeth-m4.html
http://www.pwslaundry.com/i-10401426-maytag-23003654-washer-washer-m3-2.html
http://www.pwslaundry.com/i-10401441-maytag-23002438-washer-washer-m4-3.html

	Maytag MFR35PCATS 02 - CONTROL PANEL (PC/PN)

